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INSTRUCTIONS AND INFORMATION

1. Answer ALL the questions.
2. Read ALL the questions carefully.
3. Number the answers according to the m used:in this question paper.

The answers of ALL calculations m

Lto THREE decimals.

ANSWER BOOK.
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QUESTION 1

Indicate whether the following statements are TRUE or FALSE. Choose the answer and write
only 'true’ or 'false’ next to the question number (1.1-1.10) in the ANSWER BOOK.

1.1 24 km/h equals 667 m/s.
1.2 The graph of 3y =12x + 5 has the gradient of 12.
1.3 The coefficient of x* in the term of ~10x" is 10.
1.4 Natural numbers start at 1.
1.5 3 8 11

p— +..... e

7 5 12
1.6 The following expression has three terms:

s
6a* +3(b-2a) —§?——
3¢

1.7

1.8

1.9 hen the amount of money is R526,25.
1.10 le an be obtained when one side of a triangle is

(10x 1) [10]

ollowing without the use of a calculator:

3.9 X
3 %Z-C—l——lb—z—— X <2a °b>”
\J 81bH (5)

2.1.2 640" x b7 + b
8 4)
2.1.3 log, 64 — 6log1 000 — 8log?* + 310g10 )
2.2 Subtract 6gr +115pg + 35bd from15gr + 108 pg —140bd . 3)
2.3 Divide 6x* +3x” — x* + %x ~3 by2x +1. Show ALL the steps. )
[24]

Copyright reserved Please turn over



(16030121) -4- TOLOE)I24)T

QUESTION 3

Simplify by factorising fully:

31 51D° —85D°
' 17D? )
2 o) 3 - 2
39 Tp=2lp 2p-6p
4q €)
33
“
34
“
(1)
3.5
@)
“)
[21]
QUESTION 4
4.1
(3)
3)
43 The difference between twice a number and six is equal to twelve.
Calculate the number.
Let the number be x. 4)
[10]
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QUESTION 5

Given: y=4x-1 and y:—i
X

Hence answer the following questions.

TOTOE)I24HT

5.1 Give the equation of the straight-line graph. (1)
5.2 Is the slope of the straight-line graph positive or negative? (1)
53 Give the name of the other graph. (1)
54 In which quadrant(s) will the other graph be sketched ¢))
55 Give the value of the slope of the straight-line (1)
5.6 Give the y-intercept of the straight-line gr ph (1)
1
5.7 Use x-values of '7:; 1;2:3:4¢ mentioned in QUESTION 5.3; use
the scale of 1 cm = 1 unit. ‘ )
' (10]
QUESTION 6
6.1
B C
Calculate the magnitude of angle C. (3)
Calculate AB with the aid of the theorem of Pythagoras. (3)
6.2 By means of a line drawing, distinguish between the following:
6.2.1 An obtuse angle
6.2.2 Opposite angles
6.2.3 An acute angle
6.24 A right angle
(4 x2) ¥
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6.3 Calculate the value of B in each of the following with the use of a calculator:
6.3.1 tan B =3,775
6.3.2 B =sin 23°54'+ cos 62°36'

6.4 Simplify the following expression by making use of the special angles. Do not use a
calculator.

6sin30° e tan’ 60°
sin30°

Calculate the area of the figure below:

TOTAL:

M

@

“)

4)
(23]

100
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(Return this sheet with the other answers)
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MATHEMATICS N1
FORMULA SHEET
This sheet must accompany the question paper.

Rectangle: Perimeter = 2(! + b)
Area =Ixb

Square: Perimeter = 4a
2
Area =a”

Triangle: Perimeter =a+b +c¢
Area =Yb xh

Rectangular prism:
Volume=Ixbxh

Right triangular prism:
Volume =Y2b x h x|

Cube: Volume = @’

Right pyramid:
Volume = 3 (base area x 1)

Ellipse:

Area = g—(major ax

1~
R

, 2 ,
Annulus: A= JZ'(R —-F
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The right-angled triangle:

The theorem of Pythagoras:

3 9 23
cC=a+ b

Ratios of angle 0:

. a
sinf =—
c
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